


2.

1-345-7+9-11+13-15 = 4

@D 68 ® -68 3 0



ol

o

3 0



® 0

@ -23









7.

%Wﬂ%
she A A

2
® -3

o



ol

or
o8

ol
Njo

oln

® —4%2x(-3)?2=-144



9 9
®-7 O-x



3

0 |







12. axb>0,bxc<0,a>cdo, e =22 789

@ a>0,b>0,¢>0 @ a>0,b>0,¢c<0

® a>0,b<0,c<0 @ a>0,b<0,,c<0

® a<0,b<0,¢c<0



13.

The 224 QoA AE AB =

*+0

A
2:30%2 %%@mqﬁ <2
£ oh?
12 9 6 .



A 2x - 3 =4 oA FRio] -3

e,

<X
=

@ FHAA 3

@

H_OL
Ho
ol

HollA -3

)



15.

[15] = 158 94 &&= 7t
AAtotA?

@D -1 ? 2

2
o
o
N
s
=
s
=)
iR
&
_|_

o
2,



16. oh % Auto] B8 AL9
. <+2;> _ <_%) ) Z11
® (-3)-(+3) =1
® (+1.8) - (%) — %



17. t&s AXtR




a4 B719 Y 9] fal4 FollA] ol A 5 St A2 Ho
Z|&gkS gro e gty H4ot ek 2S5k
(a1
H7]
1 3
-3 “3 Ty +2
3 9
@ -1 @ -= ® -2 @ -= ® -9



19. ts F Attel 59 A2

D (-15) + (+3)=-5
® 30+ (-5)=-6
® (-21) =3+ (-7) =1



20. 3x3.99+ 97 x3.99  AAlotdA?

® 11.97 @ 387.03 ® 100

@ 9299 3 399



©9

HAHA 5 -2{x-(6-x)} —x=70lA x ] g

@ 1 B 2

3 0



22,

M ALY A7 LA o TR 2

1 x—2
h 1=

@) 3x+ 22
X X+
e 1=

® 6+ 3

® 2x+4=64+x

filo

1=H?

@ 3(x+1)-2=4x-1

@ —0.03x = 0.2(1.2x — 2.7)



23.

(x—=1):3=(3x+2):4 A x 2] g9

D =2 ® -6 3 0

@ 2



24.

b, ¢ ol 5t |al < bl < c|, ax b >0, axc<0 L o,
= % 2A g2 AE =T
D bxc<0

@ axbxc<0 ® la+ b| > |al
@ b+ c| <] ® la-c| <|c|



_6b+4 _x—-b+6 x-3

25. ax 5 = S 5

*2?

S WESH 517k 13 L 1), o 9

D 1 ® 2 3 3 @ 4 ®B 5



